ROH % |

PEEEBHQ 35

1AHY Ilecm DEFH A4 >DHA

YR T 3w,

oMz,
ARDX AL T

4: cm? T3,

3L 7~

2D b,

CHOEFH D @

COEFHD—A
WEETKRD 5 FIRE

RoOFE I EH

[

2 cnazfﬁo

Nk X%
EZ X\,

AAE T Xy

ZFH nER

1

B (  ®=®a)

Fhwz, —Ank 3

141 Y 142 DEIZH 5
o =11.999396
s =12.002225
Zhwz, — Aok 3L
1.414|.1.415
DEIZH A

CHOXIIZRTUTL ¥,
Ly o¥?2

2B L) L

e

L Q \I\J:N:E"lhih%.

@& fa 5
2
2 cCIm »
1A E X1,

WETRZHI T 5y,

ooooooooo Cm

Y3y orvsltkicnh) 4,

zZn7T., @i’

2 Cmnzm

1340k X:

W—DF 2cmlz=..

V2 cm

14X14 -| 1.96
15X15 -| 225
Z2hwz, —ADk 3L
1.4} /1.5 buess
tixiar = 1.9881
Ltz =| 20164

YHyobhbd Xzl I LA,

1/6



FERZEDHQ 35 ZPFFnEE LN

xox: T L 724X
11 = 121
12 = 144
13 = 169
14 = 196
19 = 361

ROEE *Ex’?'@ﬂ%\f‘ﬁ;c:taéw.

NSRS

1

2

3

AT L X w,

=\
N
N

pd
O
(o)

P

H

(

) Bl

11

12

14

2/6



FEHRFDHQ 35

ROZENENOROERTTLEETHOKRESEZ, 20K

FOFROETERL % 3w,

=P FoE®E LN

REILTROMBETERT X

14Nk X %
VY ENE & B

/

R B ( ®=®a) &l

THhoT, —ANKIE2TLL IV,

REILFTROMETERT ¥

1Ak X %
VY ENE & B

AN

REILTROMBETERT &

1ANEX %

JEE-TETY

/T

/

\

REILFTROMBETERT &

1ANE X %
JEE-TkT Y

p—d
p—
IR

KEI2FRoBEHTERT L

14Nk X %

13

J 2fE-TkT X

'\

\

RKEI2FRoBEHTERT L

1ANEX %
JEE-TkTY

17

, REWEFHH»L, BAZABAOR23I FiETRD

3/6



ZHQ 3-1 FFHR LN

V4 = 2
V9 = 3
V4X~/9-|\/36- | 6
2X 3 = |6
EnzZenrsbhrsb L)l
vaxXvb = +/ab
se.a>0 , b>0]
ata = | Z2a
ax2 = | Z2a
20 QN A
2a
da D28 TH 5.
FlLU X9l
V2+\2=| 2V2
V3++v3= 23
DI b
22

N20 24E <55
23

V30| 24E <55

B ) K&l

X512,

Thbhs,

—2X+/2
—\/4 X2
=+/8

FlU X iz,

23
—| 2X+/3
V4 X+/3
=] V12

=| 2X+/5
V4 X+/5
=| 20

3v/5
= | 3X+/5
= |/9X+/5

4/6



2HQ 3-1 PFH

Y i

V12

= | V/4X+/3

2 X+3

2+/3

V20

= | V4 X+/5

2 X+/5

2/5

V28

= | V4 XA\7

2 X7

27

V45

= | V9 X+/5

3 X+/5

3V5

N1

R

B ) K&l

V3X+2=| V6

V3 X+/3 x+/2
=(V3X+3) xV2
=342

V5 X5 x /2
=(v/5X+/5) x 2
=52

V5X4/2 x/2 x+/3
=V/5X (2 xv2)x+3
=215

V15 X6
=/5X~/3 x /3 x/2
=31/103

2/3 X6
=2X4/3 xV3 x/2

5/6



p#Q 3-1 FHMR

BToF %

N1

TELEU»ALALREIZL 23w,

7

V3 X\/6=

V10X+/2=

V10X 5=

V10 X+/6=

V15 X/6=

V12 X+/3=

V12 X+\/6=

V8X+/6=

3v2

2+/5

5v2

2V15

4/3

H

) Rl

*R%a)ﬂ‘@ﬁ%’fibft%taéw

71

3vV2=

4N2 =

5V2=

6V2=

3vV3=

3v/5=

5vV3=

2y/5=

V18

3

2|

3

3

2

3

5

6/6



